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Linguistics 5430

Homework Assignment #4

Due: Tuesday, February 27, 2007

Part I. Truth-functional semantics
Do problems 4.3, 4.6 and 4.8 on pp. 111-113 of Saeed. 

Part II. Presupposition
You should be able to answer each of the following four questions in no more than 2-3 sentences. These questions all concern presupposition, defined as entailment under negation. This means that both (a) and (b) entail the proposition: Mom smoked before now:

(a)
My mom has stopped smoking.

(b)
My mom hasn’t stopped smoking. 

A. The Projection Problem. Not every presupposition that is evoked by the words or grammatical form of a sentence is interpreted as a presupposition of the speaker. Notice the following example:

(1)

Moe: 

That guy over there looks miserable.

Harry: 

Maybe his dog died.

The definite noun phrase his dog is said to invoke an existential presupposition: the person in question has a dog. Has Harry necessarily committed himself to the existence of this particular dog? Why or why not? Now think about the following exchange:

(2)
Moe: 

That guy over there looks miserable.

Harry: 

Maybe his champion Yorkshire Terrier died.

In (2), can the existential presupposition FAIL to be interpreted as a commitment of the speaker? Explain.

B. Presupposition Failure. Strawson, arguing against Russell, asserted that sentences like (3) simply have no truth value (cannot be either true or false):

(3)
The present king of France is bald.

Since France is a republic, the existential presupposition of the definite NP (there is a present king of France) is ‘unlicensed’. Russell said that (3) is therefore simply false; Strawson says that (3) cannot be evaluated as true or false, because it makes an unwarranted assumption. Strawson therefore suggests a third truth value for sentences like (3): neither true nor false. This three-valued logic is potentially problematic. The linguist Ruth Kempson points out that it gives us an odd result for cases like (4):

(4)
In January 2008, the Pope will not give the annual address, and it will be the Prefect of the Sacred College of Rites who gives it. 

Let’s say I utter (4) as a bet. Let’s say that the current Pope (Joseph Ratzinger) dies in December of this year (2007). In January of 2008, the Pope will not exist. I will have won the bet if the Prefect gives the annual address. Or will I? Would Strawson’s theory predict that the bet is winnable if the Pope dies in December of 2007? 

C. Metalinguistic negation. Briefly discuss the distinct functions of negation in (5) as against (6):

(5)
I can’t confide in my clergyman because I don’t have one.
(6)
I can’t confide in my clergyman because I’d be too embarrassed. 
D. Defeasibility of presupposition. Talk about the variable presuppositional properties of the subordinating conjunction before. Think in particular about whether the event denoted by the before-clause is presupposed to have occurred. You should discuss contextual effects upon the ‘factivity’ of before clauses in data like the following:

(7)
She took three tests before she got her certification. 

(8)
They got the job done before the sun went down.

(9)
Schubert died before he finished his symphony.

(10)
They broke out of prison before serving out their sentences.

